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1. cos’z +cos®y = 1 + cos(z

2. cos’z +siny = 1 —sin(x

sinr +siny y—z
—— = cot -
COSI — COSY

sin(y — x)
o. cotz —coty = ————

sinz-siny

2

2
6. cos®z —cos?y = %

2\

7. tan’a-tan?8=1-

9. cotr — tanr = 2cot(2z)

10. sec{ax + B) +secla— 3) =

12. sin’§ +sin* ¥ =1— 3 (cos

16. 2cscx = tan § +cot §

17 cos3 +siny 1+4sinz
I S e e p—
cos§ —sin3 coszx

2=

cos 2z

19 +2sinr=cscr

sinx

20. sin{2z) + sin(4z) — sin(6z)

cos(2z)

cos? 3
cos?a-cos? 8

11. tan (T +z) +tan (5 —z) =

+y)-coslr —y)

+y)-sin{z—y)

)

4. (sina +sin 8)? + (cosa + cos 8)* = 4cos® (55%)

— cos(2y))

sin’ a

8. cos(a~ %) —cos(a+ %) =sina

2cosacosj

* ~ - > * ”~
cos?a-cos?f —sin‘a-sin? 8

cos{2x)

r+cosy)

13. sin’z +sin®y = 1 — cos(z + y) - cos{x — v
14. 2secz = tan(45°—%) + cot (45°—3)

15. (cosa — cos B)? + (sin a + sin 3)? = 4sin? ("—;-'i

XY et 2 3= _3
18. cos’ a + cos” (5 + a) +cos” (5 —a) =3

4cosz - cos(2r) - sin(3x)

1 —cos20 +sin 26

211 5in@ +sin 36 +sin 56 +5in 76
- = tan 4&
cos@+cos3P +cos 58 + cos 78
Z| 2(sinb + cos6)
sint + cos
= ¢scf.
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. T
Given U-:x‘:g.

tan x —sin” x 4
Show that — = . -1.
tan x+sin‘x  2+sin2x
24 -y
sin
Show that ————— =tan4 .
1+ cos2A4
Hence, or otherwise, prove that tan221 = V2-1.
25 gaiia
(i) Show that —ﬂ = cos24.
1 +tan? 4
(ii) Hence, or otherwise, find the values of the integers / and & such that
| -tan® (135°-4)  _ IsinkA
1 + tan? (135° - A)
for all values of A for which tan(135° — A) is defined.
26 .
cscf+secd  1+sin2j
csc 8 —sec S cos 23
27 . 4 . _ 5 . o
If sina = — and a is in quadrant IT and cos 3 = T and 4 in quadrant IV, find
5} .

tan(a + 3).

56
A.
3
B U
33
16
C. I
33
4
D. -
B

E. Answer not given
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coseci = —| tan| — | +cot | — ,
' 2 2 2

Prove that tanz =

2

1

sin 2

tan

D<@ <m.

™
. where 0 <z < 5




